Y pcal Calibration Parameters (2025-01-14)

V_Tx1 bg:

0.013952 + 0.002947 (21.12%)
V_Tx2_bg:

0.012700 = 0.002947 (23.20%)
apha RxPDpWSK 1.

0.127833 + 0.000145 (0.11%)
apha RxPDpWSK _2:

0.126861 + 0.000133 (0.11%)
apha TxPD1pWSK:

0.701068 + 0.000757 (0.11%)
apha TxPD2pWSK:

0.259275 + 0.000218 (0.08%)

e 1.
0.975146 = 0.001487 (0.15%)
e 2
0.966586 + 0.001248 (0.13%)
SP 1.
ca_SP P norm:
0.502376 + 0.001035 (0.21%)
ca_SP V_norm:

0.503463 + 0.000854 (0.17%)
SP_RxPD_norm_dan:

0.503027 + 0.003074 (0.61%)

SP_2:

ca_SP P norm:

0.497624 + 0.001053 (0.21%)
ca_SP V_norm:

0.496537 + 0.000806 (0.16%)
SP RxPD_norm_dan:

0.496973 + 0.003074 (0.62%)
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